= £~
v + B s
=== 1t 8
[
" 2 - — PR g : — dﬁ
K
- - - -
- L - L -
Type A Type C
.-
r + 4;.
__|______._ - 4 = - - - S S -
Rra ] K2
— S - -
. Ke !
(o -
L h - L
EFRX&EB FFI-K JANO—F & & HAX Hialn 2R | hUE | #@#& A AR B | BEE| ME i
1B5E-FR L 2 d K K2 W% |REMIE| Type
A—=MILRL mm mm mm mm mm HSS—E
T-H-PO-M3X0.5 391-2965 | 4989999094503 TRUSCO KA hzyT M3X0.5 6H 46 18 4 3.2 6 3 S | B bang A
|BJIS2#%k
T-H-PO-M4X0.7 391-2973 | 4989999094510 TRUSCO KA b2y M4X0.7 7 52 13 5 4 7 3 7 7 B
T-H-PO-M5X0.8 391-2981 | 4989999094527 TRUSCO FR1bh&yT M5X0.8 7 60 16 55 4.5 7 3 7 7 B
T-H-PO-M6X1.0 391-2990 | 4989999094534 TRUSCO FR1bh&yT M6X1.0 7 62 19 6 4.5 7 3 ” 7 B
T-H-PO-M8X1.25 391-3007 | 4989999094541 TRUSCO FR1bh&yT M8X1.25 7 70 22 6.2 5 8 3 ” ” D
T-H-PO-M10X1.5 391-2922 | 4989999094466 TRUSCO F1bh&y7 M10X1.5 7 75 24 7 55 8 3 ” ” D
T-H-PO-M12X1.75 391-2931 | 4989999094473 TRUSCO KA1 bh&y7 M12X1.75 7 82 29 8.5 6.5 9 3 ” ” D
T-H-PO-M14X2.0 391-2949 | 4989999094480 TRUSCO KA bhay7 M14X2.0 4 88 30 10.5 8 11 3 7 ” D
T-H-PO-M16X2.0 391-2957 | 4989999094497 TRUSCO KA b2y M16X2.0 4 95 32 10.5 8 11 3 7 7 D
{ER B =E e

Trusco |SSATMNINIGKEH

BE RN YT




